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5 T e Eﬁﬁa’_f gl @wvel § #— 5. This question booklet is divided into

GUE-31 75 wug-a/

Section-B.
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BT g 3 forw 1 s Frif &
$7HT I 34 & o0 3yoTey wE
T OMR 3W-93% H fy 17 wel
faweq #1 Hiet / Fet afer 97 ©
gmg FI feEEt W gER &
. WIS/ e ward / =E / g
T FT OMR FAT- A% H W4T
FTAT AT &, AT w¥iEr gRvmH
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TUE - i / SECTION - A

RS WY / Objective Type Questi&ns

nyT "=y 17 70 'aw%mm%mwﬁmﬁvwi forrd @& o
Wﬁ?lﬁﬁm#wwﬁ%m#omsﬁzw%%aaﬁrw
35 uvl F71 FT F 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to marh; your selected option, on the OMR-Sheet. Answer any

35x1=35

35 questions.

1.

AT & e WIR % W1, YO F WIS S IRt FhRi aid # 2

A 27 ‘(B) .37
© 1M (D) 67®

After how many months of pregnancy, do limbs and digits of

embryd develop ?

(A) 2 months (B) 3 months
(C) 1 month (D) 6 months
2. frfirien § @ sl aen § SRR w2 2
A) T EE (B wafi
€ dafis (D)  wrfrp gew
Which of the following secretes l_arge amdunt of progesterone ?.
(A)  Graafian follicle (B) Corpus albicans
(C) Corpus luteum (D)  Primary follicle
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Fvgret & wyer sre Few Hifi ae @ ot 2

3.
(A)  wf frle (@ Wege) (B) N I
(€) R HfRwEw (D) T WR (i )
After ovulation the ovum is surrounded by a group of cells called
A) -Coruna radiata . (B) Zona pellucida
(€) Granuldsé cells (D) Theca layer
4. Frfafes # ¥ = e sfe 2 |
B R B) Tl 3HSH
© fodfos stz (D} TS
Which of the following cells is hap_loid ?
(A) . Oogonia (B}T Primary oocyte
<€ - Sec'ondary oocyte (D)  Zygote
5. ws ¥ mf P WE, I R-Russd :, RATFRE?
By w20 @ TR
(©) w&H o) e
A ﬁew contraceptive pill which is non-steroidal is referred as
(A) LNG 20 | (B) Progestaset
(C) Sahel (D) Lippes loop
6. 2001 H FHUMA % FIAR WG H 6 fg T 01 3 ?
@ 11% B 37%
() ST 2% ‘D) 3%
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What is the population growth rate of India as per 2001 censys ?

(A)  1-1% (B) 37%
(C) Approximately 2% (D) 3%;
7. Trafafea § & w7 afa; mriwh gfe g6 oew 2 2

(A) ﬁaﬁaﬁg 375 (B) W §t-20

(© fRewae (D) WA
Which of the following IUDs is hormone releasing ?
(A) Multiload 375 | (B) LNG-20
(C) Lippes loop (D) Cu-T

8. Pfafaw & & Fl-u1 %o Ty ) gl & R F smr d o
(8) e Fr rdwsft gy g @ |
(B) e H SRS e G S el 2
() wivepfa # Ref oft nerelt % TRomaEw Srafad @ 2
(D) deAe i et wfedl w whph gaq @ @
Which of the~ follo“:ing statements is incﬁrrect abbut DNA
replication ?
(A)  DNA replication is semi-conservative
(B) Main enzyme for DNA replication is DNA polymerase
(C) Mutation appears due to érmr in replication

(D) Replication on both strands of DNA is continuous
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10.

|
(119]

freforfea § ¥ w4 GoTEH TRETEMS AR % ForE ¥ Iwerf R 2
(A) FREAY S (B) HNTAT WA I
(C) RUAC afefiiis 11 (D) HWTAT WA I

Which of the following enzymes is responsible for transcription of
- ribosomal RNA ?

(A) RNA polymerase ~ (B) RNA polymerase I

(C) RNA polymerase Il | (D) RNA polymerase I1I

@mﬁmﬁlzﬁzé@q@%aﬁﬁu@mﬁmilﬁﬁaﬁgaﬂm

H8d & ? -

(A)  IEiRY | (B) « STuBIYA

(€ weifE (o) P

Some amino acids«ére coded by more than one codon. Such code is

known as
(A) unambiguous (B) degenerate /redundant

(C) universal . (D) specific

11, @ 0T A ysﬂ#aﬁiﬁjhaﬂw%?

(A e AoreraTgest H FE ACH
(B) Wﬂ@ﬂ{e%@‘«r

(C) Wlﬂaﬂqanazﬁaﬂ _
(D) AR F F2 TG
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What is the role of y gene in lac operon ?
(A) .Codcs for B-galactosidase
(B) Codes_fo_r permease
(C) Codes for repressor gene:
(D) Codes for transacetylase |
12. YA ST fpass srerge W i ? 2

(a) i frem (B TeHIEF T fasm
( s (D) v e
Paleontological evidence is based on the study of
(A) embryological development

'(B) .comparative anatomy - .
(C) fossils

(D)  divergent evolution

13, g & G o g &2

(A)  FuEr e (B) mr fawg
(C) wHATEC R _ (D) AR
What do analogous structures show ? .
(A) | Divergent evolution (B) Convergent evolution
(C) Parallel evolution (D) Saltation |
14, st TET-ReEl # @ wa w ? |
(A 18,000 99 q& (B) 10,000 ¥ gd
(€} 75,000 99 gdf (D) 40,000 =¥ &
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When did pre-historic cave art develop ?

(A) 18,000 years ago (B) 10,000 years ago

(C) 75,000 years ago (D) 40,000 years ago
15, 0 @ § ween & Few R B T R 2

(a) fwfE B, @) fafma

‘ @/‘ﬁzﬁr c o) faerfm B,

Amount of which vitamin increases after conversion of milk into

card ? '

(A)  Vitamin B,, () Vitamin A

(C) Vitamin C '(D]. . Vitamin B o
6. P # @ fea dwter W w @0 H w A ordwis W 3

Tififem 6t @ ? _ | |

) REwwE B oA

(C) éﬁrcﬁafrw ' (D) SwRfeE

Alexander Fleming diécovered penicillin while working on which of

the fdlloiving bacteria ?

-

(A) Streptococcus | (B) Acetobacter
(C) Staphylococcus (D) Lactobacillus
{7 freffee § & 99 AORUA F F¥AE H Uk 8 ?
a) ST (B RIwEW
©) Yhfem -(D) vfeT - _
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Which of the following inhibits synthesis of cholesterol ?

(A}  Protease (B) Streptokinase
(C})  Penicillin (D) Statin
18. QW Hifkrewt & Hyul dhur a1t ) aryar Y w7 wEd ¥ 2
(A) Fa® Gauq (B) wgEuHAT
(© o werka (D) g% S
Capacity to generétc a whole plant from a plant cell is called as
(A) Tissue culture (B) Pluripbtency
(C) Totipotency (D) Micropropagation
19. T Ffafga sl § @ fewet et 2.2
B~ T | (B) - g
© s o oy
Hisardale is a blreed ¢t which of the following animals ?
(A) Cow (B) Buffalo
~ (C) Sheep ' (D)  Chicken
20. mﬁamm%mammwm@mm
forar o 2
(A) ARG T : (B) wEgfoetor
(C) H&HWT (D) T HaH

Which of the following techniques was used to get yellow mosaic

virus resistant mung lentil ?

(A) Mutation breeding (Bj Introduction
(C) Hybridisation (D)  Tissue culture
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22.

23.

[119]
m%mﬁwmmﬁmwﬁﬁwmg Reee
QUS|
(A) = AR @ B) A FAafl@ 2 |
(C) mafm & (D) oF aw F Aw § IR g
Reason for movement of DNA fragments. towards anode in

electrophoresis is DNA fragments being

(A)  Negatively charged

(B) Positively charged
(C) Charged .
(D) Charged with charges of both types

ﬁm%ﬁaaﬁﬁaﬂqﬁ%ﬁﬁwﬁm(m%)m%mm@qﬁ%ﬂ

(B) - q;«nﬁam - (B) (e W]

© = (D) TFEH ()

Which of the following is riot rés_ponsible foi' veget.ative propagation
of plants ? |
(A) Offset (B) Bulb

(C) Rhizome « (D) Gemmule

Profofes § @ F-m R mE Ry

) TR 3 T e % i TR w ¥
(B) wRTIERTIERA R

(© Reafo o, e T % g g w &

(D) FeHTEEHTE & it = diemy o
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Which of the following statements is incorrect ?
(A)  Antheridia are present on antheridiophore of female thallus

of Marchantia
(B)  Chara is monoecious
(C) Diploid gene forms gamete after meiosis

(D} Zobspores are formed in CMamytfomonas

24, Frefofea & & frm 00 9 e = seE wE AR 2
() e B wE
(C) @ (D) urAfEm
Which of the following plants is referred to-as ‘Terror of Bengal' ?
(A)  Water hyacinth (B) Bamboo |
(C) Lantana . (D). " Parthenium
25. frafafea & & * g e w fwm 4@ 2 »
Aa) siceefftrm | (B iew
© wE-w 2 ) i
Which of the following is not a part of microéporangium ?
(A) Endothéciim B) - Tapétum
(C) Epidermis (D) Micropyle
26. Immest Nt § Frefafes § @ few St F forew $ s @ W
Iue o a & 2 |
(A) w1 Hif¥Er (B) S HIRmET
Je) T A A HRE (D) Y sy
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27.

28.

29.

[119]
Which of the following cells divides to form two male gametes in
angiospermic plant ?
(A)  Vegetative cell (B) Generative cell

(C) Microspore mother cell (D) Microspore

ﬁﬂﬁiﬁmﬁ%ﬂqa#g—agﬁaﬁqﬁaﬁl%?

(A) TEE B (B) 3

(©) whsamETa SR (D) g9 Tg=A |
Which of the following is not associated with egg apparatus ?
(A) Synergid : (B) | Egg

(C) Antipodal cells (D)  Filiform apparatus
wrE % i # e (o) B T HEA & ?

()~ T I - L

(€) . s Fma (D) | i 3t
Scutellum presént in the seeds of grass is called

(A) Endospermiz (B) Cotyledon

(©) Seed coit - D ' Embryonal axis

(A) TRk SERE | (B) I F IR
© HowE A FEE (D) FHIE F IR
What is the use of alpha-1-antitrypsin ?

(A) In treatment of emphysema

B) In treat:ﬁent of asthma

{;23) As insecticidal protein

(D) In treatment of diabetes
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30.

[119]
Prrfrfm & 2 frer fafty qro gfRes ot @ et @ & 7
(A) BT (B) FEERH
(C) PCR (D) g Yo7
Which of the following methods is used for the amplification of
nucleic acid ? -
(A) Trans;formation (B) - Transfection
(C) PCR - (D) Micropropagation -

e pH R deliera giFfeta % g Gl Hewe N @fhT @

31.
T8 ? | |
(A) F=AT pH (B) &mfi@pH
(C) g pH pk%éaﬁﬁuﬁﬂmpﬂ
At what pH insecticidal . protein synthesized by Bacillus
thuringiensis becomegactive ?
(A)  Acidic pH
(B)  Alkaline pH
[C]. Neutral pH
(D)  First acidic then alkaline pH
32. darg & Wi F PP F THAY H Vst ¥ ANCAY =feramaor 1 v R
sirar & Rt gapfy fafire St #Y g games gro e s 2 2
By Shramopat (B) Varwm
(C) FRARET Fieft (D) wrfRiw
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. i ion in
RNA interference is utilized to prevent nematode infestati

tobacco plants. By which vector are nematode specific genes
introduced ?
(A) Bacteriophage (B) Retrovirus
(C) Escherichia coli (D) Agrobacterium
33, randt e 6 Reeeh Rl w3 meh o € 2
A&- 20 ‘ (B) 15
Q- 27 O 5
- .
How many varieties of Basmati rice are grown-in India ?
a) 20 B) 15
() 27 : (D) 'S :

34. ﬁmﬁlﬁaﬁﬁaﬁqmwﬁ.@.mﬁdﬁtﬁwﬁéﬂmﬂ@
aﬂ.qmsﬂa’i%aﬁ%mﬁgtmmﬁﬁaéeﬁ%?
(A) fsm TS s (B) Jg wafh fawm

W T HEted

y St zou. . (D)

Which of the following organizations makes decision regarding the

validity of GM rescarch and the safety of introducing G
organisms ? |

(A) Department of Science and Technology

(B) Departmient of Biotechnology

(C) GEAC

(D) Indian Patent Office _
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36.

37.

[119 ]
ea iy %1 9w fhw 89 f sEum A e 2 2
(A) gifesfash (B} Stasitenfihy
(©) & wify (D) SR
Name of Ramdeo Mishra is associated with which field of
research ?
(A) Ecology (B) Biotechnology
(C) Green revolution | (D) Genetics
Freaferee 3 & 4 Sl 3 for s dares T 35
(A)  Sfampas (B) e
(C) pBR322 | D) A-dwEa
Which of the folldwing is not a cloning vector for bacteria ?
(A) - Bacteriophage- [Bj Plasmid
(C) pBR322 (D) T-DNA

ffafen 4 @ el 4 g3 dom & @9 g S & S5 §
1 8fve fean Risl g7

(A).  giEse B s

€ SE™ | (D) q&T Fq:&qu

Which of éhe following methods i_s used to inject recombinant DNA

into nucleus of animal cell directly ?

(A) Transfection (B) Transformation
(C) Genegun - (D)  Microinjection
24 /A /XI1-5009-(35/40) Page 15 / 32
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38.

39.

40.

| 119 ]

P —— . R R

(A)  ETESTES (B) I

) ¥ (D) HfeAA

For isolation of DNA a fungus is treated with which enzyme ?
(A) Lysozyme (B) Cellulase

(C) DNase (D) Chitinase
Prfafge § @ #9 pBR322 A A& 2 ?

(A) Wiy = ety B) Wiy e

€ -z (D) st i

wmcﬁ of the following is absent in pBR322 ?

(A) Origin of péplication~ (B)  Restriction site

(C) T-DNA - (D) Antibiotic resistant genes
af el . FRwe dgarfR sRad = % = R S,/ g

wnfsag &

(A) wefrdifer sfeta wuw @ SR

B) grETsfEA wfy wWE § IrRm

(c) whafaftem sram @ w—dm

() wedhfem afvdy s wog @m B
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41.

42..

43.

(119

If a foreign DNA is inserted in tetracycline resistant gene, the

recombinant plasmid https://www.bsebstudy.com

(A)  Will lose ampicillin resistance
(B}  Will lose tetracycline resistance
(C) Cloning would become easier

(D) Ampicillin resistance will become stronger

frferftaa & & form Sftamy @ aroerh <o idtitst s for S & »

(A)  wnefaefem B) oHT wBleHd

(C) wANIFHEY (D) - Tfhaedifn

Ffom which of the fdllowing bacteria, ' thermostable DNA
ﬁolymerase is isolated ? |

(A) Agrobacterium (B)-.. Thermus aquaticus

(C}) Methanobacteriwm (D) Archaebacteria
ﬁﬁﬁmﬁﬁﬁqa}mmmﬁﬁMW% ?

A) wiefafEy (B) #fwg yfafmdg

(C) F=ERPBm St (D) mﬁﬁa&‘lﬁm

Which of the following bacteria synthesizes insecticidal protein ?
(A)  Agrobacterium (B)  Bacillus thuringiensis

(C)  Escherichia coli (D) | Archaebacteria

HIV T | form SR W amseaor +tar § 7

(A)  B-HIfEH (B) T-%IfmeA

Aoy whifuferaet i D) TR Sifdrem
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HIV attacks on which of the following cells ?

(A)  B-cells (B) T-cells

(D) T-helper cell

ithelial cell
e it W%maﬁ?ﬁuﬁﬂw

44, _rﬁ'ﬁﬁum&ﬁaﬁ_mqaﬁw,

HEATTT & ? |
(a) @A ) freed
(C) FT=E (D) gfiftpehe

| ' i into the soil
Going down of inorganic water soluble nutrients 111

nutrients is called as

(A) Fragmentation (B) Leaching

(C) Catabolisml (D) Humification

45. mﬁ%mﬂaﬁmmﬁﬁww’%? -
@) 7 Rl B) 15 ﬁq’l%w—r_
() _ 20-25 fier o) 2 fferm |
f;'diu to* Robert May how much is the global species
ccording ,
 diversity ? o
'a) 7 'million (B) 1-5 million
() 20-25 million (D) 2 million |
46 mﬁﬁaﬁrﬁwﬁﬁﬁwﬁaﬁﬁmmmm% 2
o (B) 81%.
(tA]/ 2-4%
(c) 5% (D) 9%
| -
24 /A /XII-5009-(38/40) Page 18 /
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Biodiversity of India is what percentage of the total global species

diversity ?
(A}  2-4% . (B) 8'1%
C) 5% (D) 9%

47, TR w6 Rrafre Tefml & 200 ¥ R TRE % fiea 5=

IO T o7 ? |
(A) AEfaegEa (B)_ Tordefy sferdt 1 antsherwr
() fa Q& (D) aErE @Ry

What was the reason for extinction of more than 200 species of

Cichlid fish in Lake Victoria ?
(A) Co-extinction | (B) « Alien species invasion
- (©) Oﬁcrcxploita_tion (D) + Habitat loss
48. frafifes § @ <7 Rygeard Iwrmr &1 o 38 2 7
@ e dePer 3@ (B)  SHIN[eH

() e fawne (D) :ﬂfnﬁlﬂmﬁaﬁr

Which of the following is not the reason for global warming ?
(A) Use of fossil fuels

(B) Deforestation

(C) Population cxpldsion

(D) Improvement in the efficiency of energy use
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Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/
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s0. e ¥ 2 Fr—an wo G H AR F e 2 2

@ T
(B) ¥ avufye Ieaw A R

(C) HEYA %1 Aftrhad I

(D) TEEfE IS B T

Which of the following statements is Incorrect about organic
farming ? |

(A) | It is lcyclic

(B) Zero waste is generated

(C) Maximuiff utilization of .resourccs

(D) Us®of chemical fertilizers

so. avamn % ait # BrefiRed § @ B BUT s R o
(A) AMYHE GEE WUl qatawiy SR 2
(B) ArwhA fagaq W ¥ gy & N o wear 2
(© TR Surd wed A wgw @
(D) amsH BT ¥ Rrat W ww gy 2
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S2.

[119
Which of the following statements is incorrect about temperature ?
(A) Temperature is the most important environmental factor
(B) Temperature decreases from the equator towards the pole
(C) Temperature increases with increase in height |

(D) Temperature is low at the summit of a mountain

aﬁaﬁﬁwﬁ@z)aﬂﬁmﬁawmmwﬁmwmﬁmmm
foar ST 2 2

a) s (B wRw

(C) e & (D) uifeufas w@w. -

At which level is natural selection operated ‘to evolve the desired
traits ? | RRo |

(A) Individual level ' (B) . Population level

[C) Commumty level (f)) _Ecosystem level

e afd % g Rafg s sae-E, w—m@mﬂmmaﬁ%wﬁmﬁ
W1 Whwrd S TR | 8 a1 98 iafafea #war & f% aufy

@A) wwe (B wmwR

c fer? D) JIfRRR
When percentage of individuals of pre-reproductive, -reproductive
and post—rf:productive phase is in decreasing order in the age

pyramid of human population, it shows that population is

(A) Expanding : (B) Decreasing
(C) Stable ' (D) Unstable
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53. Prafufes # & 3 e # o ar g @ E 2
_lhl STt wETETTOa W weeh T Wt
B s
(C) weh Qﬂ At
(D) o w§ 3m }
Which of the following reproduces once in a lifetime ?
(A) Pacific salmon fish and bamboo
(B) Mammals
(C). Birds and mammals
(D) Litchi and manigo
54. daEcR @ g fa@da: gatyua Snfaat & w-are @Y 1 SR F. o7 P
(&) D (B) HaTH R
() () =i

=
What was the reason for co-existence of five closely related species

of Warbleré ?

(A) Competitive exclusion (B) Resource partitioning

(C) Parasitism (D) © Commensalism

—_—
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s5. fmafafn & @ sf-w1 dur ke wgy wreETe 39w w=@r 2 o

(A) g (B) @enigifag
C) I gy '
(C) (D) &g

Which of the following plants produces poisonous cardiac

glycoside ?
(A) Cactus ' (B) Calotropis
(C) Coffee plant (D) Tobacco

56. frafefiaa d @ w9 sowes € 7

(A)  H% TE (B) . Faw d farmmy
(C) e Td S (D) %, Sfam] wF fermrop
Which of the following are decomposers ?
. (A) Fungi angd algae - (B) Fungi and virus
(C) Fungi and bacteria (D)  Fungi, bacteria and \nrus

57. wmﬂmwmﬁwmmwmﬁm%ﬁ%
A & Horaed, F N et get areft ot @ ¥ fraet sermor 2 2

(A) e (B) wEwwIfaa
() gt smrﬁm (D) favate fasrest wr fsyor
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59.

[ 119

In a cross between true breeding red flowered and true breeding

white flowered plants of Antirrhinum the F, generation was pink

flowered which is an example of https://www.bsebstudy.com

(A) Dominance

(B) Codominance

(C) Incomplete dominance

(D)  Blending of contrasting forms of a character
frfafes & @+ %o sme 2 ?

(A) et @ Pt w w0 E

B) R fafaws gd &

(©) e it HH AZl | B &

(D) 37l =1 3qw o Gt gar R

Which of the following statements is incorrect ?

(A)

B)

(©)
(D)

(A)
(B)
(C)
(D)

.Characters are controlled by factors
Factoravare discrete
In pea, factors are in pairs

Alleles blend with each other

AT IYYEA & faw 1 HIfNH T R 2

arefter 1 afeygr 5t g - ‘

T I & et T a0 THT e R #
Frefter wwTelt 41 STt B wea §

Ferea 1 # I I O g ¥ 6T w9 qReag B 3
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What is the cytological basis of law of independent assortment ?

(A)  There is no blending of alleles
(B)  Alleles of a pair separate during gamete formation

(C)  Alleles may be dominant or recessive

(D) Pair of chromosomes arrange themselves in line
| indepe‘ndéntly in ﬁetaphase I
60. mﬁwaﬁﬁtﬁqﬁmmﬁuﬁwﬁaﬁm ?
a) H (B) WA @ 913t
{C)  wmix ) T
Who propouqdcd the c.hromosomal theory of inheritance ?
(A) - Mendel (B) Suttonand Boveri *
(C) Morgan ' (D) .“Henking
61. Prferfen & & F S R 8 2 »
a) s fgm B) e g
© T Rgm (D) AR
Which of the following is not a chromosomal- disorder ?
(A) Dcfnwn's syndrome (B) Klinefelter's syndrc;me
(C) Turner's'syndrome (D) Haemophilia
62. AU 1 X-frtor e artegr frem fan 2
(a) i@ fafewa o defee et
‘-(EJ//W
(C) areE W fbw
) (D) wieE
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64.

[ 119,

: ?
Who provided X-ray diffraction data of DNA

(A) Maurice Wilkins & Rosalind Franklin
(B) Chargaff
(C) Watson and Crick

(D) Holley

A A R

(A) Gﬂmtgwangaﬁmmmi

B frrop 1 anERies vere Sy R
(@) Ty w5 e et s R

D) frwmy r el wee ST R

What was the conclusion of Hershey and Chase experiment ?
(A) Genetic materiat.of bacteria is DNA -

(B) Genetic material of virus is DNA

(C) . Geneticinaterial of bacteria is RNA -

(D)  Genetic material of virus is RNA

Prerferfe & 2 S G WS (PR Sr) T8 R o

(4) UAG - (B uUGa "
(C) AUG (D) .UAA

Which of the following is not a termination codon ?

(C) AUG D) UAA
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65. SN AT & ATy 1 w37 B 7 |
(A wwiE o RIRRNE e S &
(B) 3T T it T @ e
(C) T 1 Iqag
(D)  HRTAT T wqiewor
What is the meaning of charging of +-RNA ?
(A)  Linking of amino acid with cognate t-RNA
(B) Attachment of t-RNA with ribosome
(C) Translation of RNA
(D)  Modification of RNA
66. P % @ W arsmEm I & 7
(A) T B e
© R , (D) TEHES
Which of the following is a non-infectious disease ?
(A) AIDS - (B) Malaria
(C) Cancer | (D)  Typhoid
67. frafafas § @ frg ™ SN 9t .o w.o. wed § »
(a) fereiame (B) wrEge
(€ e | (D) eeicy
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Which of the following blood cells is known as PMNL ?
(A) Lymphocyte” (B) Monocyte
(C)  Neutrophil (D) Platelets
68. Trfrfan § & Reaeh s wieirge #§ Al & 2
(A) IgA (B) IgG
©) IgM | (D) . IgD
Which of the following is abundantly found in cplostrum ?
(A)  IgA B) IgG
© M (D), Igd
69. srTfhfes ATk ] 9 |
(A)  hISA ‘(B) - 2N
() Fafss D) “Frm
What is diacetyl ‘fhorphire ?
(A)  Codeiné "~ (B) Heroin
(C) Cannabinoid . (D) Coke
70. ﬁmaqﬂmﬂﬁsé?ﬂétﬁgft@?ﬁ%? |
A R B) R .,
(C) U&H | (D)  =pfw
Which fever is confirmed by Widal ’r:est P
(A)  Malaria - (B) * Typhoid
(€)  AIDS (D) | Pneumonia
24/A/XUI-5009-138/40)] T
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Yug - § / SECTION - B
oY I uy / Short Answer Type Questions

T WET 1@ 20 g Fwa & | Fedl 10 we & I § 1 AR & R
2 % FafRa & . - 10 x 2 =20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks : 10 x 2 =20

7 AR T T g qor et 9 @ § 2 2
How are DNA fragments separated and isolated ?
2/ ] ‘Eusg R P 2
‘What is ELISA ?
3. e ug fedfias scnewar | € 2 2
What are the primary and secondary productivities ? )
4. SlaEA THE AR ? 2
What is Dobson unit® o .
T2

5. HNE (MOET) & ?
What is MOET ? |
6.  wfoaed Q@ﬂiﬁﬂa"" L3 %;ﬁ I e ST & 7 | ,
| How is the name given to restnctmn endonucleases P
7. R HEAE sferce 7 & 7
What is cell mediated immunity ?

8. qmvﬁm—qw%ﬁfmw“\? : 2

porin-A and what is its use ?
' x
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9.

10.

11.
12.

13.
14.

15.

16.

17.

18.

~ tendrils of Cucuibita ?

“responsible for malignant malaria ? o

(119
W(Wﬁﬁﬁﬁm)mmm(gmﬂm)@
Rt e B (dFved wnidemsgy) w7

What are spermatogonia, primary spermatocytes and secondary
spermatocytes ?

mifdus Nt > 3 3 wf HA B ? 2
‘What are contraceptive pills ? How do they function ?

Y st ur $ T H A R | 2
Describe the structure of microsporangium.

fi-fri=m it = /) 2
Explain double fertilization. )

wufy gie R F FH! e @ 2 .2
What are fhe factors which affect population growth ?

T STEe ST W 3 2

Explain parasitic adaptations.
ﬁnﬁm%mﬁﬁwﬁa%m(ﬁmﬁwmtw 2

What is’ the rclatmnsmp between thorns of Bougainvillea and

W@nfﬁmmmmmsmmw;m%mﬁq
e TG R 2 : 2

Name the different species of Plasmodium. Which species is

aut R R 2 S 2)
What is incomplete dominance ?

mﬁwﬂaﬁm@ﬁmma&xaﬁ 0%, ﬁmﬁﬂaﬁ%waﬁ
1 8 ? 2
What would be the blood group of offspring, if the blood group o
mother is AB and blood group of father is O ?
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19.  WHY Symae favdww 4 71, wrer, AyA wd @n 6 AyE F fTT vy gdtE
| 2

Draw the symbols used for male, female, mating and

consanguineous mating in human pedigree analysis.

20. wFHE AW ofE@eT % o w@n # 2 2

What are the. goals of Human Genome Project ?

&Te 39T 9¥ / Long Answer Type Questions

m.mzzﬁzsﬁ#mﬁvmﬁrﬁ??am#érm%:m%%q
5 3% iR &1 gv siftrmem 120 sr=t F g @R 3x5=15

Question Nos. 2] to 26 are Long Answer Type Questions. Answer any
3 questions. Each question carries 5 marks. Give. your answer in about

120 words. - ‘3x5=15

21. 39 fafgar 6 @iy & s 6 srer 5
Explain the causes of biodiversity loss. |

22, Preferiem w wfm Rl R - 2x2=5
(A)  EEERE T | |
(B) Wty gfemam

Write shortnotes on the following :
(A)  Phosphorus cycle
(B) Primary immunity.
23. ffafea w wfim ot frg | 2x2i=5
() Tersdt B
(B) StETT Hi THEAH F)
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Write short notes on the following :

(A) Allergy

(B) Chemical composition of DNA.

T iR 51 gad fefism F g H4 e S @ 2 5
How is gene of interest amnplified by using PCR ?

frrferfas wet & Iw @ 2x25=5

(A) S e e % T ¥ s 31 2

(B) IoNGET T & i Wl ofY ftee e R ?

Answer the following questions :

(A) Stability of DNA is higher than that of RNA. How ?

(B) What are the roles of three parts of transcription unit ?
=t w afim feoeft ford | 2x23=5
(A) 3o

(B) TgwA (AT

Write brief notes t;m the following :
| (A) Implantation

(B) Autogamy.

|
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